Note: (1) Control Agent initial here: If low bid is acceptable. (2) Attach memo stating why low bid is not acceptable. (3) Return your recommendation to Purchasing

Department: SNP - Ms. Maria Guerra		Box No.:	Phone Number:
Bid Number: 16-17-23	Advertising Date: April 25, 2017	Opening Date: May 23, 2017	Time: 2:00 p.m.
Description: "Refrigerated and Frozen Foods"			Results Sent:
Purchasing Agent:		Witness:	

	REFRIGERATED AND FROZEN FOODS BID#: 16-17-23		LABATT		SHAMROCK		SYSCO		M.A. & SONS		JNS	FOODS
ITEM #	DESCRIPTION	QUANTITY (CASES)	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	BACON - PRECOOKED BACON: John Morrel black label 2 / 5 # gas flused 300 pieces per case code # 06047	10	51.08	510.80	32.82	328.20	39.70	397.00	NB	#VALUE!	NB	#VALUE!
2	BAGEL: LENDERS BLUEBERRY SLICED: 2 oz. each Sysco 1357383-0 OR equivalent (12 bags / 6 ct / case) (5 servings) ONLY NATIONAL BRANDS WILL BE ACCEPTED	60	25.11	1,506.60	17.40	1,044.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
3	BAGEL: LENDERS CINNAMON SLICED: 2 oz. each Sysco 1357383-0 OR equivalent (12 bags / 6 ct / case) (5 servings) ONLY NATIONAL BRANDS WILL BE ACCEPTED	60	18.98	1,138.80	17.40	1,044.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
4	BAGEL: LENDERS PLAIN SLICED: 2 oz. each Sysco 1357383-0 OR equivalent (12 bags / 6 ct / case) (5 servings) ONLY NATIONAL BRANDS WILL BE ACCEPTED	60	18.45	1,107.00	21.00	1,260.00	16.51	990.60	NB	#VALUE!	NB	#VALUE!
5	BEEF - GROUND BEEF: IMPS #136, Frozen (10 lb./ 8 rolls / case) , NO MORE THAN 15% FAT	200	2.90	580.00	2.09	418.00	3.58	716.00	NB	#VALUE!	NB	#VALUE!
6	BEEF BREADED STIX: oven ready, 1 oz. portion, .50 oz. meat/meat alternative, Advance CN label #14-16 or equivalent (NO HOUSE LABEL ACCEPTED.) (160 each / 1 oz. / case) (5 servings) Beef Meat Only, No Substitutions	2500	25.47	63,675.00	25.25	63,125.00	23.72	59,300.00	NB	#VALUE!	NB	#VALUE!
7	BEEF MEAT BALLS: Frozen, pre-cooked .62 oz. meat balls, ground beef, vegetable protein, Low Fat, LOW SODIUM , 64 servings per case, 4 meat balls to meet 2.0 oz. MMA Beef Lunch requirement CN Label Required.	1687	NB	#VALUE!	25.09	42,326.83	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
8	BEEF STEAK PATTY: - FULLY COOKED CHARBROILED BEEF PATTIE. All beef pattie, not more than 20% fat. MAX 2.0 oz. fully cooked to provide 2.00 oz. or equivalent meat for Child Nutrition Meal Pattern requirements CN Label. ABSOULUTELY NO WATER, NO SOY ADDITIVES, NO VPP. NO HOUSE LABEL ACCEPTED.	1000	84.90	84,900.00	60.10	60,100.00	58.82	58,820.00	NID	#VALUE!	NB	#VALUE!
9	BEEF, FAJITA STRIPS- Seasoned beef strips, cut into 3/8" wide strips, fully cooked, no soy added. Cn labeled.	200	41.25	8,250.00	41.16	8,232.00	51.51	10,302.00		#VALUE!	NB	#VALUE!
10	BEEF, MEATLOAF- Presliced, cheeseburger chunk, no soy added. Each slice to meet a 2m/ma. Advance Pierre	250	73.72	18,430.00	92.66	23,165.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
11	BEEF, SALISBURY STEAK- 100% beef salisbury steak, 2.15 portion to meet 2m/ma.	250	60.77	15,192.50	47.84	11,960.00	39.08	9,770.00	NB	#VALUE!	NB	#VALUE!

	REFRIGERATED AND FROZEN FOODS BID#: 16-17-23		LA	BATT	SHA	MROCK	SY	SCO	M.A. &	z SONS	JNS I	FOODS
12	BEEF, TERIYAKI NUGGETS- 4PCS to make a serving to meet 2m/ma, beef teriyaki nuggets with sauce, boil in a bag. 6/3.5 bags,	300	59.93	17,979.00	72.01	21,603.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
13	BLUEBERRY SNACK-N-WAFFLE- Individually packed WG blueberry waffles to meet 2oz wg, no artificial color or flavors. Smuckers	150	28.08	4,212.00	26.53	3,979.50	32.63	4,894.50	NB	#VALUE!	NB	#VALUE!
14	BOWL, EDIBOWL: 16 oz. WG bowl, bake to meet 1wg. True Living	250	NB	#VALUE!	73.72	18,430.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
15	BOWL, EDIBOWL: 6 oz. WG bowl, bake to meet 1 wg. True Living	300	75.11	22,533.00	38.46	11,538.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
16	BREAD, CIABATTA- WG to meet 2oz. wg, pre sliced, thaw and serve	200	25.70	5,140.00	23.63	4,726.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
17	BREAD, GLUTEN FREE LOAF- WG sliced loaf gluten free bread, thaw and serve	30	50.52	1,515.60	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
18	BREAD, GLUTEN FREE ROLL- 3oz presliced WG roll, thaw and serve	50	44.49	2,224.50	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
19	BREAD, PANINI- WG presliced, each slice to meet 1 wg, thaw and serve	250	24.98	6,245.00	23.63	5,907.50	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
20	BREAKFAST ON A STICK-PANCAKE WRAP: Turkey, 100% Whole Grain Cornmeal enriched Maple Flavored batte. Individually Wrapped. Product on a Stick. Frozen, cooked and Reheat able. Maple, Apple, Cinnamon, Blue Berry flavors. Must meet breakfast guidelines for lean protein, reduce fat, to meet 1oz. Meat/Meat Alternative, 1oz. Grain equivalents. 56ct/2.85 oz. Product Code 95121. Foster Farms Brand or equivalent. CN Label and Allergen Breakdown Required.	1500	19.33	28,995.00	19.05	28,575.00	31.45	47,175.00	NB	#VALUE!	NB	#VALUE!
21	BROCCOLI AND CAULIFLOWER FLORETTES FROZEN: 20lb bag, Polyline bags. No stem pieces MS Grade B. Uniform in size and color. Normal flavor and color free from defects and tender after cooking. Only National Brands.	50	18.37	918.50	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
22	BROCOLI FLORETTES FROZEN: MS Grade B. must be uniform in size and color free from defects and tender after cooking, normal flavor and color, no stem pieces only florettes. Packed in Polyline bags 20lbs of 4 packs 2.5lbs each per case (20lbs/case) Only national Brands will be accepted.	170	21.07	3,581.90	27.08	4,603.60	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
23	BUTTERMILK BISCUIT: (Prebaked); 1 biscuit = 2.5 servings of grains. 100% WHOLE GRAIN ONLY: MUST MEET USDA REQUIRMENTS FOR NSLP AND NSBP. (100 each / 2 oz. / case) MUST HAVE USDA STATEMENT AND SEAL	1000	28.14	28,140.00	25.00	25,000.00	24.49	24,490.00	NB	#VALUE!	NB	#VALUE!
24	CANADIAN BACON- Stick style, low sodium 2/3.5#	100	NB	#VALUE!	2.99	299.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
25	CARROT SLICES FROZEN: crinkle cut US grade B only, slices should be uniform in size and color, free from defects and tender after cooking, normal flavor and color packed in polylined container (20 lb. / case)	1000	15.88	15,880.00	15.85	15,850.00	18.83	18,830.00	NB	#VALUE!	NB	#VALUE!
26	CHEESE - LOW FAT: Pasteurized process American low fat cheese a blend of fresh and aged natural cheese (such as cheddar, colby, etc) that has been melted, pasteurized, and mixed with an emulsifer according to FDA's Standard of Identity. (6/5 lb loaves Per case, one lb AP provides about 16.0 1 oz. servings sliced cheese. One 5lb loaf AP provides about 80.0 1oz. servings sliced cheese, CN Crediting: 1oz. cheese provides 1oz equivalent meat/meat alternate. Must meet the requirements in 21 CFR section 133.169.	500	73.00	36,500.00	76.32	38,160.00	NB	#VALUE!	NB	#VALUE!	69.69	34,845.00
27	CHEESE, PEPPERJACK- Sliced, pasteurized, no imitation or blend accepted	150	49.58	7,437.00	34.51	5,176.50	27.66	4,149.00	NB	#VALUE!	41.80	6,270.00

	REFRIGERATED AND FROZEN FOODS BID#: 16-17-23		LA	BATT	SHA	MROCK	SY	SCO	M.A. &	& SONS	JNS F	FOODS
28	CHEESE, WHITE AMERICAN- Sliced, pasteurized, no imitation or blend accepted	150	67.38	10,107.00	40.79	6,118.50	40.83	6,124.50	NB	#VALUE!	47.60	7,140.00
29	CHEESE-FILLED BREAD STICKS: Frozen, Prebaked, Mozzarella Cheese Filled, heat and Serve, Whole Grain to meet 2 Whole Grain Bread Requirement, 1 Meat/Meat Alternative Requirement. Low Fat, Big Daddy/Beacon Street or Equivalent, CN Label, (must provide sample before bid opening).	1000	45.65	45,650.00	56.55	56,550.00	NB	#VALUE!	NB	#VALUE!		-
30	CHEESE-STRING CHEESE STICKS: (10z.) String, Low Moisture, Part Skim Mozzarella Pieces, Refrigerated, Individually Wrapped. To meet 10z. M/MA Requirement Miceli Brand or Equivalent, Product Analysis Required. 360 CT	500	36.49	18,245.00	39.55	19,775.00	NB	#VALUE!	NB	#VALUE!	37.80	18,900.00
31	CHICKEN - DICED: WHITE diced chicken meat 1/2" fully cooked, contains no allergens. Case of 10lbs. <u>NO ADDITIVES. NO EXTENDERS. ONLY NATIONAL BRANDS WILL BE ACCEPTED.</u> NO HOUSE LABELS ACCEPTED.	300	30.67	9,201.00	17.42	5,226.00	30.21	9,063.00	NB	#VALUE!	NB	#VALUE!
32	CHICKEN - WHOLE GRAIN BREADED CHICKEN PATTY: Whole Grain fully cooked chicken patty. Patty produced from USDA natural proportion white and dark meat with isolated soy protein No other types of TVP permitted. Breaded with a crunchy textured Whole Grain Texture. Each serving must provide 2 oz. of meat/meat alternate servings and 1 oz. whole grain bread serving to meat the required NSLP Meal Pattern. Product must provide zero transfats and identify allergens on label. CN Label is required. 156/3.06 servings per case. ONLY NATIONAL BRANDS WILL BE ACCEPTED	1000	20.67	20,670.00	77.96	77,960.00	15.92	15,920.00	NB	#VALUE!	NB	#VALUE!
33	CHICKEN BREAST NUGGETS, BREADED, FULLY COOKED: CN Label with rib meat, Tyson 2378 or equal, ready to serve, frozen. Breading must be Whole Grain. (No House Label Accepted) 265 each / .65 oz. or 10 lb. / case)	2000	17.94	35,880.00	19.87	39,740.00	16.34	32,680.00	NB	#VALUE!	NB	#VALUE!
34	CHICKEN BREAST UNBREADED PATTY: Unbreaded fully cooked grilled marked chicken patty WHOLE MUSCLE with isolated soy protein from USDA natural proportion white and dark chicken meat. No other type of TVP permitted. Unbreaded patty to be "NATURAL SHAPE" with heat applied grill marks. Round patties are NOT ACCEPTABLE. A serving of unbreaded patty provides 2 meat/meat alternate servings to meet the requirements of NSLP Meal Pattern. CN Label is required. 192 ct/2.5 oz. servings per case. ONLY NATIONAL BRANDS WILL BE ACCEPTED. NO HOUSE LABEL ACCEPTED.	500	51.05	25,525.00	23.35	11,675.00	57.79	28,895.00	NR	#VALUE!	NR	#VALUE!
35	CHICKEN, BUFFALO DRUMSTICK- 5.05oz drumsticks to meet 2.5oz m/ma, Tyson	200	82.20	16,440.00	77.04	15,408.00		#VALUE!	NB	#VALUE!		#VALUE!
36	CHICKEN, PATTY HOT AND SPICY- WG breaded hot and spicy chicken patty to meet 2m/ma	150	60.45	9,067.50	18.51	2,776.50	NB	#VALUE!	NB	#VALUE!		#VALUE!
37	CHICKEN STRIPS	250	57.65	14,412.50	33.38	8,345.00	29.89	7,472.50	NB	#VALUE!		#VALUE!
38	CHORIZO, TURKEY: Fully cooked turkey chorizo crumble, CN Label and Nutrient Analysis, Jennie-O 639740	300	149.58	44,874.00	146.80	44,040.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
39	CINNAMON GLAZED FRENCH TOAST STICKS: Bulk Packed Whole Grain - Whole Grain French Toast flavored with cinnamon glaze. Each serving must provide 1 meat/meat alternate servings and 1.5 whole grain serving to meet the required NSBP Meal Pattern Requirements. CN Label is required 85/2.9 oz. servings per case or 100 / 2.9 oz. servings per case	1000	45.41	45,410.00	87.81	87,810.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
40	CINNAMON ROLL, MINI- Individually packed WG mini cinnamon rolls with glaze. Pull apart, oven able, must meet 2oz wg. Pillsbury 13368600	200	31.82	6,364.00	29.67	5,934.00	28.95	5,790.00	NB	#VALUE!	NB	#VALUE!

	REFRIGERATED AND FROZEN FOODS BID#: 16-17-23		LAI	BATT	SHA	MROCK	SY	'SCO	M.A. &	Ł SONS	JNS	FOODS
41	CORN - WHOLE: kernel, frozen, golden color, free from defects, no part of cob, silk or husk; tender in texture and in cream of maturity; normal color and flavor, packed in poly lined containers (20 lb. / case) ONLY NATIONAL BRANDS WILL BE ACCEPTED.	1000	15.72	15,720.00	18.16	18,160.00	18.12	18,120.00	NB	#VALUE!	NB	#VALUE!
42	CORNDOGS: Chicken, Whole Grain, Whole Grain Cornmeal, Enriched Batter, Product on a Stick, Frozen, Bulk, Cooked and Reheat able, Must meet lunch guidelines for Lean Protein, Reduced Fat. To meet 2oz. Meat/Meat Alternative, 2oz. Grains equivalents. Foster Farms, State Fair or Equivalent. Pack Size 72ct/4.0 ounces, Product Code 95150. Allergen Breakdown, CN Label Required.	1800	16.92	30,456.00	29.20	52.560.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
43	CORN-ON-COB- 5" cob to meet 1/2c vegetable. 48ct	250	19.91	4,977.50	18.46	4,615.00	21.63	5,407.50			NB	#VALUE!
44	CRISPITOS: Whole grain chicken and cheese, filled tortillas, frozen, pre-cooked rolled ready bake filling to consist diced chicken meat, pasteurized process cheese mild pepper flavor. 2 Crispitos to meet 2 MMA, 2 whole grains. Tortilla to be whole grain to meet CN Label Lunch requirements. 72 CT Tyson 24574-928 or Equivalent. Nutrient Analysis Required	1500	30.89	46,335.00	44.94	67,410.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
45	CROISSANT, BREAKFAST- WG 51%, presliced, thaw and serve, must meet 1oz wg. Bake Crafters 3284	150	31.52	4,728.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
46	CROISSANTS: Whole grain croissants must have 51% whole grain per serving and provide 2 oz. equivalent grain for School Lunch Program. Not to exceed 220 calories per serving, no more than 3 gr of Saturated Fat, no more than 310 mgr of sodium and no Transfat. Wrapped and tray package of 48/2.35 oz, Per-Sliced, per case. Sara Lee 41315 or equivalent. Nutrient Analysis Required	1000	18.54	18,540,00	26.48	26.480.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
47	CUPCAKE, LET'S CELEBRATE- 51% WG, 1.5oz Chocolate cupcake, individually wrap to meet 1/2wg, thaw and serve	300	29.79	8,937.00	25.74	7,722.00			NB	#VALUE!		#VALUE!
48	CUPCAKE, LET'S CELEBRATE- 51% WG, 1.5oz Vanilla cupcake, individually wrap to meet 1/2wg, thaw and serve	300	31.00	9,300.00	25.74	7,722.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
49	EGG - HARD BOILED EGG: 12 / 12 ct bag hard cooked egg dry pack, USFS, hard boiled, clean egg odor. Free of any spoilage or other off odors. Typical of hard cooked eggs. Fresh, clean, and appealing egg taste. Free of off flavors.	10	32.42	324.20	29.15	291.50		231.20	NB	#VALUE!	NB	#VALUE!
50	EGG ROLL, CHICKEN- 3oz WG Chicken egg roll to provide 1oz m/ma, 1oz wg and 1/4c vegetable. Must provide 130 calories, no more than 7 grams of fat and sodium to be less than 400mg.	50	33.96	1,698.00	34.34	1,717.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
51	EGG ROLL, PORK- 3oz WG Pork egg roll to provide 1oz m/ma, 1oz wg and 1/4c vegetable. Must provide 140 calories, no more than 9grams of fat and sodium to be less than 400mg.	50	33.96	1,698.00	34.34	1,717.00	34.14	1,707.00		#VALUE!		#VALUE!
52	EGG ROLL, VEGETABLE- 3.1oz WG Vegetable egg roll to provide 1oz wg and 1/2c vegetable. No more than 140 calories, 7grams of fat and sodium less than 400mg	150	65.52	9,828.00	67.99	10,198.50	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
53	EGG, LIQUID- With citric, pasteurized, 6/5# cartons	200	41.13	8,226.00	42.94	8,588.00	43.02	8,604.00	NB	#VALUE!	NB	#VALUE!
54	EGGSTRAVAGANZA- Bacon and cheese egg mix, precooked, heat and serve, Sunny Fresh	150	52.18	7,827.00	68.44	10,266.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!

	REFRIGERATED AND FROZEN FOODS BID#: 16-17-23		LA	BATT	SHAN	MROCK	SY	SCO	M.A. &	t SONS	JNS	FOODS
55	FLAT BREAD: Thin multigrain flatbread 6", 1.8 oz. serving must meet 1.75 Bread/Bread Alternate equivalent of the NSL Meal Pattern and the Whole Grain Certificate. The Whole Grain label must be displayed. A minimum of 9 gr. Whole grain per serving. Old Republic 0501150 or equivalent.	900	NB	#VALUE!	23.27	20,943.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
56	FRENCH BREAD CHEESE PIZZA: 6 inch whole grain French bread 5.50 oz. frozen, pre-baked to provide 2.0 oz. equivalent meat alternate, 2 oz. equivalent grains and 1/8 cup Red/Orange vegetable to meet USDA Lunch requirements 60 CT/5.5 oz. pack CN Label required. Tony's 72671	360	52.19	18,788.40	64.20	23,112.00	48.16	17,337.60	NB	#VALUE!	NB	#VALUE!
57	FRENCHTOAST, SLICE- 2.9oz WG frenchtoast slice glazed. Bulk packaged, slice must meet 1.5 WG	150	56.39	8,458.50	88.69	13,303.50	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
58	FRIES, POTATO- Frozen, oven ready, seasoned crinkled cut, must have cn label.	300	20.29	6,087.00	25.75	7,725.00	24.75	7,425.00	NB	#VALUE!	NB	#VALUE!
59	FRIES, SWEET POTATO- Crisscut sweet potato fries, 3/5# bag, Lamb Weston	300	20.42	6,126.00	24.49	7,347.00	23.72	7,116.00	NB	#VALUE!	NB	#VALUE!
60	FRITATA, CHORIZO- WG 9" tortilla filled with egg, pork flavored chorizo, cheese, peppers and onions. Must meet 1wg and 1m/ma. Sunny fresh 40262	200	43.38	8,676.00	42.00	8,400.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
61	FRUDEL, APPLE- WG individually wrapped strudel filled with natural apple flavor. Oven able, no artificial colors or flavors. Pillsbury 127852000	150	31.86	4,779.00	30.17	4,525.50	29.10	4,365.00	NB	#VALUE!	NB	#VALUE!
62	FRUDEL, CHERRY- WG individually wrapped strudel filled with natural cherry flavor. Oven able, no artificial colors or flavors. Pillsbury 127852000	150	31.86	4,779.00	30.17	4,525.50	29.10	4,365.00	NB	#VALUE!	NB	#VALUE!
63	GOLD FISH HONEY WHOLE WHEAT BREAD: The Product must be made from 100% Whole Grain, with ho high fructose corn syrup and no trans fat. Must meet the requirements to qualify for one whole grain serving as defined by the USDA Food Buying Guides for Child Nutrition Program, as specified in the Exhibit A of the FCS Grain / Breads Instruction 783 of Rev 2 and must contain the required 14.75 grams of whole grain flour per serving. Servings size 1.5 oz. / 43 gr must equal 1 whole grain serving. 120 servings per case. Pepperidge Farm #19933 MUST HAVE USDA STATEMENT AND SEAL.	1000	NB	#VALUE!	29.03	29,030.00	19.01	19.010.00	NR	#VALUE!	NB	#VALUE!
64	GREEK YOGURT: Assorted flavors. A 4 oz. cup must equal 1 serving of meat/meat alternate to meet the required NSLP and NSBP Meal Pattern. Allergen free, NO soy, nuts, artificial colors, or sweeteners, No preservatives and gluten free. Only natural ingredients, 9 gr of protein, 95% lactose free, 24/4 oz. per case. Chobani champions yogurt or equivalent. *Must guarantee delivery on time of quantity when	2500	9.80	24,500.00	12.95	32,375.00	5.08	12,700.00		#VALUE!	NB	#VALUE!
65	GREEN BEANS FROZEN: MS Grade B must be uniform in size and color, free from defects and lender after cooking, normal flavor and color. Packed in polyline container 20 lb. of / 4 pks 2.5 lb. each per case(20 lb. / case) ONLY NATIONAL BRANDS WILL BE ACCEPTED.	1000	16.83	16,830.00	16.15	,	NB	#VALUE!	NB	#VALUE!		#VALUE!
66	GREEN CHILE, CHOPPED, HOT: PREMIUM, NEW MEXICO MILD GREEN, HARVESTED, THEN FLAME ROASTED, PEELED AND DICED 3/8" LOW SODIUM	50	24.28	1,214.00	24.21	1,210.50	22.43	1,121.50	19.00	950.00	NB	#VALUE!
67	GREEN CHILE, CHOPPED, MILD: PREMIUM, NEW MEXICO MILD GREEN, HARVESTED, THEN FLAME ROASTED, PEELED AND DICED 3/8" LOW SODIUM	100	25.56	2,556.00	23.68	2,368.00	22.43	2,243.00	19.00	1,900.00	NB	#VALUE!

	REFRIGERATED AND FROZEN FOODS BID#: 16-17-23		LA	BATT	SHA	MROCK	SY	SCO	M.A. &	& SONS	JNS	FOODS
68	HAM SLICED: no soy additive, less than 10% fat content, USDA inspected, 1.5 oz. fully cooked meat provides 1 oz. meat / meat alternate, land o frost 91105f or equivalent (No House Label or Budding Brand Accepted (12 lb / case) LOW SODIUM.	600	43.13	25,878.00	37.34	22,404.00	35.49	21,294.00	NB	#VALUE!	NB	#VALUE!
69	HAM, BAKED STEAK: 2oz. Baked, presliced steak, must have Nutrient Analysis and CN Label	250	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
70	HOTDOG: Turkey Frozen, Skinless, 8/1 Reduced Fat. Must meet lunch guidelines for Lean Protein, 2oz. Meat/Meat Alternative. Pack Size 2/5Lbs Product No. 65669, ONLY NATIONAL BRANDS WILL BE ACCEPTED. Allergen Breakdown, CN Label Required,	600	13.24	7,944.00	12.54	7,524.00	19.75	11,850.00	NB	#VALUE!	NB	#VALUE!
71	INDIVIDUALLY WRAPPED BREAKFAST BAR: 144/2.33 oz. pack size. To meet a whole grain breakfast requirements. Oats, whole grain flour, cinnamon/maple flavor. Smart Choice code#50506 or Equivalent. Nutrition Analysis Required.	562	34.75	19,529.50	NB	#VALUE!	20.27	11,391.74	NB	#VALUE!	NB	#VALUE!
72	INDIVIDUALLY WRAPPED MINI BAGELS WITH STRAWBERRY FLAVORED CREAM CHEESE: Whole grain Mini Bagels two per packet with strawberry flavored cream cheese stuffed. To meet breakfast whole grain requirements. 72CT/2.4 oz. Pillsbury code#139413000, Nutrition Analysis Required.	1125	31.88	35,865.00	30.17	33,941.25	30.96	34,830.00	NB	#VALUE!	NB	#VALUE!
73	INDIVIDUALLY WRAPPED WHOLE GRAIN BAKED BREAKFAST DOUGHNUT: Plain whole grain doughnut to meet breakfast requirements. Pack size 80-2.25 oz. Smart Choice code#78629 or Equivalent. Nutrition Analysis Required.	1012	25.10	25,401.20	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
74	INDIVIDUALLY WRAPPED WHOLE GRAIN BREAKFAST SWEET ROLL: 72-2.5oz pack size whole grain Honey Buns to meet breakfast requirements. Smart Choice code:49248 or Equivalent. Nutrition Analysis Required.	1125	29.55	33,243.75	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
75	LUNCH CALZONE: 3 Cheese lunch calzone made with a stuffing of Low Fat, LOW SODIUM cheese. Whole grain crust. To meet 2oz MMA 2 meals USDA requirements. 72 CT/4oz. Ea. Gilardi or Equivalent.	300	43.67	13,101.00	43.07	12,921.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
76	MAPLE SNACK-N-WAFFLE- Individually packed WG maple waffles to meet 2oz wg, no artificial color or flavors. Smuckers	800	27.99	22,392.00	27.05	21,640.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
77	MINI BAGELS, GUAVA- 2.4oz WG mini bagel filled with guava flavored cream cheese. Oven able, to meet 2oz wg. Pillsbury 13941300.	900	34.90	31,410.00	30.81	27,729.00	30.96	27,864.00	NB	#VALUE!	NB	#VALUE!
78	MINI INDIVIDUAL BANANA LOAF: Banana flavored whole grain mini loaf individually wrapped. To meet a breakfast grain requirements. Pack size 72CT/2oz. Loaves. Smart Choice code#51675 or Equivalent. Nutrition Analysis Required.	1125	19.60	22,050.00	17.63	19,833.75	39.80	44,775.00	NB	#VALUE!	NB	#VALUE!
79	MIXED VEGETABLES-FROZEN: U.S. Grade B, Mixture to include Green Beans, Sweet Peas, Dried Carrots, Kernel Corn, Lima Beans. Uniform in Size, Color, Free From Defects and Bender after Cooking. 20Lbs pack in polylined bags. Nutrient Analysis Required	1000	16.86	16,860.00	20.33	20,330.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
80	MUFFIN - ENGLISH: WHOLE WHEAT ONLY, 1ST INGREDIENT- Whole grain by weight 36.1 gr to meet USDA requirements for NSLP and NSBP. MUST BE SLICED. Only National Brands Will Be Accepted. (6 pk / 12 each / case) MUST HAVE USDA STATEMENT AND SEAL	200	22.54	4,508.00	20.17	4,034.00	NB	#VALUE!	NB	#VALUE!	NR	#VALUE!
81	MUFFIN, TOP ORANGE- WG to meet 1 wg, individually packed. Smart choice 57619.	900	18.07	16,263.00		#VALUE!	45.16	40,644.00		#VALUE!		#VALUE!

	REFRIGERATED AND FROZEN FOODS BID#: 16-17-23		LA	BATT	SHA	MROCK	SY	SCO	M.A. &	z SONS	JNS	FOODS
82	MUFFINS-BREAKFAST: 100 % Whole Grain to meet Breakfast 16 grams of creditable grain (1oz. Equivalent) Item No. 30723, Smart choice Brand, Brand Cool Muffins or Equivalent. Pack Size 96ct (1.8 oz.) Individually Wrapped, frozen, baked, thaw and serve. Whole Grain, Reduce Fat, enriched. Banana, Apple Cinnamon, Blue Berry, Corn Bread Flours. Nutrient Analysis, Allergen breakdown required.	3000	18.20	54.600.00	23.01	69,030.00	22.25	66,750.00	NB	#VALUE!	NB	#VALUE!
83	PAN DULCE- 1.1oz individually packed WG assorted pan dulce. Sky blue WPDC196	1000	26.18	26,180.00	24.34	24,340.00	NB	#VALUE!	NB	#VALUE!		#VALUE!
84	PEAS AND CARROTS, FROZEN: 20LB bag. Equal parts of frozen green peas and diced carrots, MS Grade B. uniform in size and color, Only National Brands. Normal flavor and color. Polyline bags.	50	17.08	854.00	22.04	1,102.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
85	PIZZA CRUST- Gluten free, 10" thick par baked pizza crust, frozen	30	29.70	891.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
86	PIZZA, CHEESE- 16" Sweet potato crust, WG to meet 2wg, 2m/ma and 1/4c red/orange. Low sodium, presliced, heat and serve, Uno's	600	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
87	PIZZA, CHEESE GALAXY- WG, 4" personal, Tony's	700	55.36	38,752.00	NB	#VALUE!	47.64	33,348.00	NB	#VALUE!	NB	#VALUE!
88	PIZZA, CHICKEN BACON- 16" Sweet potato crust, WG to meet 2wg, 2m/ma and 1/4c red/orange. Low sodium, presliced, heat and serve, Uno's	700	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
89	PIZZA, CRUNCHERS- WG, 2pieces to meet 1.25wg and 1m/ma, Richs 65225	300	57.73	17,319.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
90	PIZZA, PEPPERONI- 16" Sweet potato crust, WG to meet 2wg, 2m/ma and 1/4c red/orange. Low sodium, presliced, heat and serve, Uno's	600		NB	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
91	PIZZA, PEPPERONI GALAXY- WG, 4" personal, Tony's	800	55.87	44,696.00	NB	#VALUE!	47.64	38,112.00	NB	#VALUE!	NB	#VALUE!
92	PIZZA-VEGETALE: All Vegetable, Frozen 16" made with real 100% Mozzarella Cheese, Sliced Mushrooms, Black Olives, Red, Green, Pepper. Authentic Italian Season Sauce, Whole Grain raised edge pizzeria style, precut crust. Reheatble bake, Must meet 2 Grain Enrichment /2 Meats/ Meat Alternative and 1/4 Cup or more vegetable requirement for Child Nutrition Meal Pattern, Low Fat Requirements. Alpha, CN Label Required. 72ct/case	600	63.13	37,878.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
93	POLLOCK WEDGES: Frozen, Potato Encrusted Pollock Wedges, Ready to Heat. To meet 2oz. Meat/Meat Alternative 3.6 portion Size, Pack Size 10Lbs/44ct Item#422072, Trident, CN Label Required	500	28.02	14,010.00	26.48	13,240.00	26.38	13,190.00	NB	#VALUE!	NB	#VALUE!
94	PORK RIB PATTY: fully cooked boneless, CN Label, frozen USDA approved, must meet 2 oz. of meat / meat alt. for child nutrition program requirements. USDA approved (No House Label Accepted) 100 each / 2.5 oz. / case	500	42.51	21,255.00	41.91	20,955.00	28.81	14,405.00	NB	#VALUE!	NB	#VALUE!
95	PORK, PULLED SHREDDED- No sauce, low sodium, 7/4# bags	400	100.79	40,316.00	36.92	14,768.00	37.85	15,140.00		#VALUE!		#VALUE!
96	PORK, SOUS VIDE- Diced pork, low sodium fully cooked, JTM	600	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!

	REFRIGERATED AND FROZEN FOODS BID#: 16-17-23		LA	BATT	SHAI	MROCK	SY	SCO	M.A. &	& SONS	JNS	S FOODS
97	POTATO, SMILE SHAPE- Reduce sodium smile shape potatoes, McCain	500	28.63	14,315.00	27.19	13,595.00	26.11	13,055.00	NB	#VALUE!	NB	#VALUE!
98	PRE-COOKED SLICED SANDWICH BEEF STEAK: Frozen, pre-cooked-all meat sliced Angus beef for Philly steak sandwiches. Steakeze Advance Pierre Foods Equivalent CN Label Required. (SAMPLE MUST BE PROVIDED BEFORE BID AWARDED).	2700	116.61	314,847.00	120.38	325,026.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
99	RAVIOLI- WG mini Cheese ravioli, Tasty Brands.	300	73.41	22,023.00	74.96	22,488.00	71.09	21,327.00	NB	#VALUE!	NB	#VALUE!
100	RED CHILE PUREE: WATER, SELECT, ROASTED NEW MEXICO CHILE PODS THAT HAVE BEEN STONE GROUND AND THEN PUREED. TO BE USED FOR RED CHILE SAUCES. CONTAINS NO ADDITIVES, PRESERVATIVES, MSG OR SALT. HOT, FROZEN 6 - 56 OZ. BUENO 0944-2. LOW SODIUM	100	24.00	2,400.00	18.96	1,896.00	22.39	2,239.00	17.25	1,725.00	NB	#VALUE!
101	RED CHILE PUREE: MILD	500	23.49	11,745.00	18.96	9,480.00	22.36	11,180.00	17.25	8,625.00	NB	#VALUE!
102	ROSATTI ICE- 4.4 Fluid ounces, Seasonal flavors, 100% real fruit juice to meet 1/2c fruit.	300	32.12	9,636.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
103	SAUCE, ALFREDO- Frozen, low sodium Alfredo sauce, 6/5# bags	150	67.06	10,059.00	66.66	9,999.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
104	SAUCE, BBQ- Frozen, low sodium BBQ sauce, 6/5#	100	NB	#VALUE!	NB	#VALUE!	46.10	4,610.00	NB	#VALUE!	NB	#VALUE!
105	SAUCE, BUFFALO- Frozen, low sodium Buffalo sauce, 6/5#	100	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
106	SAUSAGE, PORK ROLL, RAW- Roll, raw grade A	100	NB	#VALUE!	28.76	2,876.00	38.10	3,810.00	NB	#VALUE!	NB	#VALUE!
107	SAUSAGE: for breakfast, CN Label, one 2 oz. cooked pork sausage patty provides when cooked 1 oz. equivalent meat (No House Label Accepted) (80 each / 2.0 oz. / case)	1000	19.33	19,330.00	21.73	21,730.00	19.97	19,970.00	NB	#VALUE!	NB	#VALUE!
108	SEAFOOD FISH SHAPES: Breaded, pre-cooked, pollock nuggets, lightly seasoned, mild fish flavor, Seafood shapes to include fish, star and shell. Must meet USDA Lunch Requirement, whole grain breaking and all meat pollock, frozen, oven bake able, 4 shapes to meet 2.0 MMA 10lbs/case/160 CT 1oz.	422	20.37	8,596.14	19.70	8,313.40	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
109	SHRIMP POPPER- WG, fully cooked heat and serve. Serving to meet 1.25wg and 1m/ma, Richs	600	28.42	17,052.00	25.90	15,540.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
110	SLUGGERS - JUMBO BBQ SLUGGERS: must meet 2 oz. meat / meat alt. packed 2 / 5 lb. (Tyson #2133 or equal (10 lb. / case)	1500	26.80	40,200.00	26.75	40,125.00	30.69	46,035.00	NB	#VALUE!	NB	#VALUE!
111	SQUARE, CRUMB- 2.2oz WG crumb square, individually wrapped to meet 2oz wg. Daves Bakery 325	350	16.93	5,925.50	15.89	5,561.50	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!
112	TAMALES, CHEESE- 5oz Green Chile sauce with cheese tamales, whole grain, must meet 1.25 m/ma and 2wg. Fully cooked, Boil in bag, Del real 766	600	46.02	27,612.00	42.67	25,602.00	41.98	25,188.00	NB	#VALUE!	NB	#VALUE!

	REFRIGERATED AND FROZEN FOODS BID#: 16-17-23		LA	BATT	SHA	MROCK	SY	SCO	M.A. & SONS		JNS	S FOODS	
113	TAMALES, CHICKEN- 5oz Red chile sauce chicken tamales, whole grain, must meet 1.25 m/ma and 2wg. Fully cooked, Boil in bag, Del real 767	600	45.81	27,486.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	
114	TURKEY - SLICED SMOKED: made from fresh deboned turkey meat, no skin added; white meat no less than 60%, less than 10% fat content, equals 1 oz. meat / meat alt. (No House Label Accepted or Budding Brand Accepted) 6/2 lb. / case LOW SODIUM.	700	45.14	31,598.00	46.08	32,256.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	
115	TURKEY, STICK- 1.2oz Oven roasted, individually wrapped turkey stick, 100% natural, no artificial preservatives or additives, Jennie O	250	227.61	56,902.50	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	
116	TURKEY, STICK- 1.2oz Smoked house, individually wrapped turkey stick, 100% natural, no artificial preservatives or additives, Jennie O	250	227.15	56,787.50	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	
117	VEGETABLES JULIENNE: Matchstick Cut Vegetables to include carrots, squash, potatoes, peppers. Frozen, Pre-Cooked. Pack Size 20 Lb plastic bags.	1000	24.33	24,330.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	
118	WAFFLES, MINI BLUEBERRY- Individually packed WG mini blueberry waffles to meet 2oz wg, no artificial color or flavors. Pillsbury.	600	29.51	17,706.00	27.05	16,230.00	25.87	15,522.00	NB	#VALUE!	NB	#VALUE!	
119	WG BLUEBERRY FLAVORED MINI PANCAKES	1000	28.08	28,080.00	26.53	26.530.00	NB	#VALUE!	NB	#VALUE!	ND.	#VALUE!	
120	WG CINNAMON FLAVORED MINI WAFFLES: Individually wrapped mini waffles with a hint of cinnamon in oven able packaging. Whole grain-rich with whole grain as the first ingredient (at least 51%) 39g of wholecreditables grains No high fructose corn syrup 1 package meets the requirements for 2 oz. eq. of grain. 38000-92313. To meet the NSLP and NBP requirements.	1000	28.08	28,080.00	26.72	26,720.00	NB		NB	#VALUE!		#VALUE!	
121	WHEAT ROLLS: 1 roll (2 oz.) = 2 servings grains for child nutrition program; (180 each / 2 oz. / case) THE PRODUCT MUST HAVE A MINIMUM OF 58 GRAMS (100% WHOLE WHEAT FLOUR ONLY - SAMPLE MUST BE PROVIDED BEFORE BID AWARDED). Must have USDA Statement and Seal	1500	21.21	31,815.00	30.02	45,030.00	20.37	30,555.00		#VALUE!		#VALUE!	
122	YEAST: SAF Yeast Dry - Shelf Stable (20 each / 2 lb. / case)	30	51.97	1,559.10	58.96	1,768.80	51.22	1,536.60	NB	#VALUE!	NB	#VALUE!	
123	YOGURT, GO BIG POUCH- 4oz, Yoplait strawberry flavor to meet 1oz m/ma	250	15.93	3,982.50	24.62	6,155.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	
124	YOGURT-STICKS: (2.25 oz.) Individual Squeeze Pack to meet 1 oz. Meat/Meat Alternative, Snack Requirement, Strawberry Flavored Yogurt. Refrigerated, Yoplait, 8/8/2.25 per case (64ct) Product No. 4216 3000.	500	28.21	14,105.00	21.55	10,775.00	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	
125	ZUCCHINI SQUASH: crinkle cut, frozen, poly lined container, tender and free of defects, normal color and flavor (12 pk / 3 lb./ case)	50	27.22	1,361.00	35.91	1,795.50	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!	